
G. Rennie  Brannock High School 

 

 

Answers 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Essential Skills 9 

1 (-3, 2) 

2 (1, 3) 

3 (7, 12) 

4 (0, 12) & (9, 3) 

5 (2, 2) 

6 (-2, -2) & (6, 6) 

7 (-6, -4) & (-2, 4) 

8 (-3, -2) & (-17, -16) 

9 (5, 9) & (8, 6) 

10 (-1, 2) & (1, 0) 

AQ (a) 𝑥2 + 𝑦2 − 2𝑥 + 6𝑦 − 15 = 0 (b) (-4, -3) & (1, 2) 

Essential Skills 11 
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10 Proof 
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Essential Skills 10 

1 (6, 3, 2) 

2 (0, 2, 4) 

3 (4, 1, 7) 

4 (5, 5, 9) 

5 (4, 7, 2) 

6 (-4, 0, 0) 

7 (5, 4, 9) 

8 (-3, 10, 0) 

9 (2, 0, 1) 

10 (0, 0, 6) 

AQ P (3, 6, 10) 

Essential Skills 12 
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AQ (1) 
2√3−1

10
 (2)(a) 𝑦 = −√3𝑥 + 2√3 (b) B(0, 2√3) (3) -6 


